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(1):
Ker(y) = ¢~ '([0]3, [0]s, [0]7)
= {n € Z;[n]s = [0]3 [n]s = [0]5 [n]z = [0]7}
={ne€Z;ne3Z n € 5Z n e 7L}
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(2):
¥ : ZJ105Z — Z/37 x Z./57 x 7] TZ,
¥([nfios) = ([n]s, [n]s, [n]7)
(3):

12x34+(—-1)x35=1

¥(=35) = ([1],[0]s, [0]7)

r=-—35
(4): 5 3-7=21

(—4)*5+1%21 =1

¥(=35) = ([1]3, [0]5, [0]7)
¥(21) = ([0]3, [1]s5, [0]7)
¥(15) = ([0]3, [0]5, [1]7)
( V(1) = ([1]3, [1]s, [1]7) )



([ [2]5, [3]7)

=1([1]s, [0]5, [0]7) + 2([0]5, [1]s, [0]) + 3([0]5, [0]5, [1]+)
=1)(—35) + 2¢(21) + 31(15)

=1p(—35 + 42 4 45) = (52)

T = 52

(5):

52,52 + 105(= 157), 52 + 105 % 100(= 10552)



